



DueList Report

SUPER KING AIR B200

S/N BB-1632 N724AA

OWNER: ALBRIGHT INSURANCE HOLDINGS, INC.
ADDRESS: 1214 TURRENTINE ST BURLINGTON NC 27215
OFFICE: 336-469-3034
FAX:

OPERATOR: ALBRIGHT INSURANCE HOLDINGS, INC.
ADDRESS: 1214 TURRENTINE ST BURLINGTON NC 27215
OFFICE: 336-469-3034
FAX:

OPERATOR: AMERICAN AVIATION
ADDRESS: 637 WOOD WALLACE DR. NORTH WILKESBORO NC 28659
OFFICE:
FAX:

ANALYST: TAMMY DIETZ
EMAIL: TDIETZ@CAMPSYSTEMS.COM

+1-316-462-2435 (DIRECT)
+1-631-588-3200 (MAIN)
WWW.CAMPSYSTEMS.COM

800-787-9749 (EFAX-CARDS)
631-980-4222 (EFAX-CARDS)

PROJECTED: 12 MOS. to 02/28/2027

AIRCRAFT SERIAL/REGNO: BB-1632/N724AA MODEL: SUPER KING AIR B200 MANUFACTURER: TEXTRON AVIATION INC.

CERTIFICATION DATE: 30-SEP-1998

LAST ACTUALS:
4917.6 A/C HRS as of 13-FEB-2026
4819 AFL as of 13-FEB-2026

PROJECTED:
5037.60
4939

ENGINE NO. 1 SERIAL/PART: PCE-RX0698/3072554-01 MODEL: PT6A-52 MANUFACTURER: PRATT & WHITNEY CANADA CORP.

INSTALLED ON: 29-DEC-2015
0 ENG. HRS 2927.3 A/C HRS
0 ENC

LAST ACTUALS:
1990.3 ENG. HRS as of 13-FEB-2026
1944 ENC as of 13-FEB-2026

PROJECTED:
2110.30
2064

ENGINE NO. 2 SERIAL/PART: PCE-RX0699/3072554-01 MODEL: PT6A-52 MANUFACTURER: PRATT & WHITNEY CANADA CORP.

INSTALLED ON: 28-DEC-2015
0 ENG. HRS 2927.3 A/C HRS
0 ENC

LAST ACTUALS:
1990.3 ENG. HRS as of 13-FEB-2026
1944 ENC as of 13-FEB-2026

PROJECTED:
2110.30
2064

PROPELLER NO. 1 SERIAL/PART: FY4382/HC-D4N-3A/D9383K MODEL: HC-D4N-3A MANUFACTURER: HARTZELL PROPELLER LLC

INSTALLED ON: 11-FEB-2022
1197.4 PROP HRS 4124.7 A/C HRS
0 PRC

LAST ACTUALS:
1990.3 PROP HRS as of 13-FEB-2026

PROJECTED:
2110.30

PROPELLER NO. 2 SERIAL/PART: FY4356/HC-D4N-3A/D9383K MODEL: HC-D4N-3 MANUFACTURER: HARTZELL PROPELLER LLC

INSTALLED ON: 11-FEB-2022
1197.4 PROP HRS 4124.7 A/C HRS
0 PRC

LAST ACTUALS:
1990.3 PROP HRS as of 13-FEB-2026

PROJECTED:
2110.30



New Requirement/Flagged Items

Operator Review and Action Required

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL: 4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

These tasks or requirements have been added newly to your aircraft status. Please review them and approve or modify as appropriate. Please pay particular attention to the Base and Next Due Times for these tasks. It is important to note that any task that has insufficient information (marked by ?), will never come due unless the necessary information is provided by you.

PN & SN	Effective Date	Unit	Interval	Base Time		Next Due (ENG/APU) A/C	Disposition
				Current	Change To		
SL MTL-27-05 R01		FLIGHT CONTROLS - ELEVATOR BELLCRANK INSPECTION, SERVICE LETTER					Bulletin ATA:27
		MOS					MANDATORY
		HRS	T:30000			30000	
		AFL					

NEW REQUIREMENT ADDED ON 12-FEB-26. RENEW BASE TIMES TO ENSURE CORRECT DUE TIMES.

REF: BULLETINS

Name: _____

Signature: _____

Cert.# _____

Date: _____

?-Insufficient Information S -Suppressed Requirement * -Estimated Due(New Requirement)(EFF) - Effective C/W M -Manual Due (EBT) - Estimated Base Time



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL:
4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due
243100		BATTERY CAPACITY TEST (LEAD ACID)						Service ATA:24
PN:7638-44	MOS	6 (+1m/-1m)		13-Feb-26	13-Aug-26	13-Sep-26	166 d (+31)	13-Aug-2026(2)
SN:41031151	HRS			4917.6				
	AFL			4819				
REF: GENERIC NO REF								
273000		PERFORM ELEVATOR BOB WEIGHT LINK ASSEMBLY INSPECTION						Service ATA:27
	MOS			30-Sep-98				05-Nov-2026
	HRS	5000 (+10%/-10%)		0	5000	5500	82.4 (+500)	
	AFL			0				
REF: AMM 27-30-23								
740020		NO. 1 ENGINE - CHECK IGNITION EXCITER FOR INSTALLATION AND CONDITION						Service ATA:74
	MOS			26-Mar-24				29-Nov-2026
	HRS	400 (+10%)		1680.5	(2080.5)5007.8	2120.5	90.2 (+40)	
	ENC			1587				
REF: EMM 74-10-00								
740020		NO. 2 ENGINE - CHECK IGNITION EXCITER FOR INSTALLATION AND CONDITION						Service ATA:74
	MOS			26-Mar-24				29-Nov-2026
	HRS	400 (+10%)		1680.5	(2080.5)5007.8	2120.5	90.2 (+40)	
	ENC			1587				
REF: EMM 74-10-00								
740030		NO. 1 ENGINE - CHECK IGNITION CABLES FOR CHAFING, WEAR AND INSTALLATION						Service ATA:74
	MOS			26-Mar-24				29-Nov-2026
	HRS	400 (+10%/-10%)		1680.5	(2080.5)5007.8	2120.5	90.2 (+40)	
	ENC			1587				
REF: EMM 74-20-00								
740030		NO. 2 ENGINE - CHECK IGNITION CABLES FOR CHAFING, WEAR AND INSTALLATION						Service ATA:74
	MOS			26-Mar-24				29-Nov-2026
	HRS	400 (+10%/-10%)		1680.5	(2080.5)5007.8	2120.5	90.2 (+40)	
	ENC			1587				
REF: EMM 74-20-00								
340141		LEAK CHECK PILOT PITOT/STATIC SYSTEM						Service ATA:34
	MOS	24		07-Jan-25	23-Dec-26		298 d	23-Dec-2026
	HRS			4718.1				
	AFL			4578				

Disposition: MANDATORY

REF: AMM 34-00-05, AMM 34-00-09, FAR SEE LOCAL COUNTRY REGULATORY FOR INFORMATION



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL: 4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due
340142 LEAK CHECK COPILOT PITOT/STATIC SYSTEM								
	MOS	24		07-Jan-25	23-Dec-26 (M)		298 d	Service ATA:34 23-Dec-2026
	HRS			4718.1				
	AFL			4578				
Disposition: MANDATORY REF: AMM 34-00-05, AMM 34-00-09, FAR SEE LOCAL COUNTRY REGULATORY FOR INFORMATION								
341618 TEST NO. 1 AIR DATA COMPUTER								
PN:011-01110-01	MOS	24		07-Jan-25	23-Dec-26		298 d	Service ATA:34 23-Dec-2026
SN:1SW006810	HRS			4718.1				
	AFL			4578				
Disposition: MANDATORY REF: FAR SEE LOCAL COUNTRY REGULATORY FOR INFORMATION								
341619 TEST NO. 2 AIR DATA COMPUTER								
PN:011-01110-01	MOS	24		07-Jan-25	23-Dec-26		298 d	Service ATA:34 23-Dec-2026
SN: 1SW005145	HRS			4718.1				
	AFL			4578				
Disposition: MANDATORY REF: FAR SEE LOCAL COUNTRY REGULATORY FOR INFORMATION								
342606 TEST NO. 1 ATC TRANSPONDER								
PN:011-00779-30	MOS	24		07-Jan-25	23-Dec-26		298 d	Service ATA:34 23-Dec-2026
SN:89130514	HRS			4718.1				
	AFL			4578				
Disposition: MANDATORY REF: AMM 34-55-01, FAR FAR PART 91.413								
342626 TEST NO. 2 ATC TRANSPONDER								
PN:011-00779-30	MOS	24		07-Jan-25	23-Dec-26		298 d	Service ATA:34 23-Dec-2026
SN:89123532	HRS			4718.1				
	AFL			4578				
Disposition: MANDATORY REF: FAR FAR PART 91.413								
050030 ACCOMPLISH PHASE 3 INSPECTION								
	MOS	24		07-Jan-25	07-Jan-27		313 d	Service ATA:05 07-Jan-2027
	HRS	800 (+20/-20)		4718.1	5117.6 (M)	5137.6	200 (+20)	
	AFL			4578				
Disposition: MANDATORY REF: AMM 05-20-03								
050030R ACCOMPLISH RAISBECK ENGINEERING PHASE 3 INSPECTION								
	MOS	24		07-Jan-25	07-Jan-27		313 d	Service ATA:05 07-Jan-2027
	HRS	800 (+20/-20)		4718.1	5117.6 (M)	5137.6	200 (+20)	
	AFL			4578				
Disposition: MANDATORY REF: ICA 05-20-00								



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL:
4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due	
050040		ACCOMPLISH PHASE 4 INSPECTION							Service ATA:05
	MOS	24		07-Jan-25	07-Jan-27		313 d	07-Jan-2027	
	HRS	800 (+20/-20)		4718.1	5117.6 (M)	5137.6	200 (+20)		
	AFL			4578					
		REF: AMM 05-20-04							
050040R		ACCOMPLISH RAISBECK ENGINEERING PHASE 4 INSPECTION							Service ATA:05
	MOS	24		07-Jan-25	07-Jan-27		313 d	07-Jan-2027	
	HRS	800 (+20/-20)		4718.1	5117.6 (M)	5137.6	200 (+20)		
	AFL			4578					
		REF: ICA 05-20-00							
122060		LUBRICATION OF DOWNLOCK HOOKS AND PIN CONTACT AREAS							Service ATA:12
	MOS	24		07-Jan-25	07-Jan-27		313 d	07-Jan-2027	
	HRS	800		4718.1	5518.1		600.5		
	AFL			4578					
		REF: AMM 12-20-53							
231162		FUNCTIONAL TEST COCKPIT VOICE RECORDER							Service ATA:23
	MOS	24 (+24d/-24d)		07-Jan-25	07-Jan-27	31-Jan-27	313 d (+24)	07-Jan-2027	
	HRS			4718.1					
	AFL			4578					
		REF: AMM 23-70-15							
231163		FUNCTIONAL TEST UNDERWATER LOCATOR BEACON (ULB)							Service ATA:23
	MOS	24 (+24d/-24d)		07-Jan-25	07-Jan-27	31-Jan-27	313 d (+24)	07-Jan-2027	
	HRS			4718.1					
	AFL			4578					
		REF: AMM 23-70-17							
341804G ^U		TEST STANDBY ATTITUDE MODULE							Service ATA:34
	MOS	24		07-Jan-25	07-Jan-27		313 d	07-Jan-2027	
	HRS			4718.1					
	AFL			4578					
Disposition: ICA		REF:							
346010		INSPECT AIR DATA SYSTEM (OPTIONAL - FOR RVSM COMPLIANT AIRPLANES).							Service ATA:34
	MOS	24		07-Jan-25	07-Jan-27		313 d	07-Jan-2027	
	HRS			4718.1					
	AFL			4578					
Disposition: AIRWORTHINESS		REF: AMM 34-10-01							

?-Insufficient Information S -Suppressed Requirement * -Estimated Due(New Requirement)(EFF) - Effective C/W M -Manual Due (EBT) - Estimated Base Time



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL:
4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due
350000		CHECK OXYGEN SYSTEM INSTALLATION FOR DAMAGE AND SECURITY						Service ATA:35
	MOS	24 (+24d/-24d)		07-Jan-25	07-Jan-27	31-Jan-27	313 d (+24)	07-Jan-2027
	HRS			4718.1				
	AFL			4578				
REF: AMM GENERIC 1								
122120		LUBRICATION - 12 MONTH LEFT WING BOLT						Service ATA:12
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF: AMM 12-20-53								
122620		LUBRICATION - 12 MONTH RIGHT WING BOLT						Service ATA:12
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF: AMM 12-20-53								
200005		INSPECT PILOT'S FUEL CONTROL PANEL AND LOWER PANEL, COPILOT'S CIRCUIT BREAKER PANEL AND OTHER WIRING CIRCUITRY BELOW THE STORM WINDOWS.						Service ATA:20
	MOS	12 (+12d/-12d)		13-Feb-26	13-Feb-27	25-Feb-27	350 d (+12)	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF:								
201400		INSPECT CONTROL LOCK						Service ATA:20
	MOS	12 (+12d/-12d)		13-Feb-26	13-Feb-27	25-Feb-27	350 d (+12)	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF:								
211105		PERFORM CABIN ALTITUDE WARNING PRESSURE SWITCH CHECK						Service ATA:21
PN:PN	MOS	12 (+12d/-12d)		13-Feb-26	13-Feb-27	25-Feb-27	350 d (+12)	13-Feb-2027
SN:UNKNOWN	HRS			4917.6				
	AFL			4819				
Disposition: MANDATORY REF: AMM 21-30-11								
252612		INSPECT EMERGENCY LOCATOR TRANSMITTER						Service ATA:25
PN:A3-06-2749-1	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
SN:251-07597	HRS			4917.6				
	AFL			4819				
REF: AMM 25-67-01, FAR FAR PART 91.207(D)								



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL:
4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due
350500		TEST ALL MASKS FOR OXYGEN FLOW						Service ATA:35
	MOS	12 (+12d/-12d)		13-Feb-26	13-Feb-27	25-Feb-27	350 d (+12)	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF: AMM 35-00-19								
350670		PERFORM BAROMETRIC PRESSURE SWITCH CHECK (AUTODEPLOYMENT OXYGENSYSTEM)						Service ATA:35
PN:PN-UNKNOWN	MOS	12 (+12d/-12d)		13-Feb-26	13-Feb-27	25-Feb-27	350 d (+12)	13-Feb-2027
SN:UNKNOWN	HRS			4917.6				
	AFL			4819				
Disposition: MANDATORY REF: AMM 35-20-01								
351000		PILOT CREW MASK INSPECTION						Service ATA:35
PN:174260-12	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
SN:03855	HRS			4917.6				
	AFL			4819				
REF: AMM 35-10-00, AMM 35-10-01								
541001		INSPECT NACELLE SPLICE PLATES						Service ATA:54
	MOS	12 (+12d/-12d)		13-Feb-26	13-Feb-27	25-Feb-27	350 d (+12)	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF: SIRM 57-17-03								
550010		INSPECTION HORIZONTAL AND VERTICAL STABILIZER						Service ATA:55
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
REF: SIRM 55-00-11, SIRM 55-00-12								
570090		INSPECT LEFT BLR AEROSPACE WINGLET IAW ICA #BLR-200-950.						Service ATA:57
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	200		4917.6	5117.6		200	
	AFL			4819				
REF: ICA 05								
570091		INSPECT RIGHT BLR AEROSPACE WINGLET IAW ICA #BLR-200-950.						Service ATA:57
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	200		4917.6	5117.6		200	
	AFL			4819				
REF: ICA 05								



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL:
4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due
571101		VISUALLY INSPECT LEFT WING OUTBOARD WING PANEL UPPER AND LOWER MAIN SPAR CAPS						Service ATA:57
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
		REF: SIRM 57-17-01, SIRM 57-17-02						
571601		VISUALLY INSPECT RIGHT WING OUTBOARD WING PANEL UPPER AND LOWER MAIN SPAR CAPS						Service ATA:57
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
		REF: SIRM 57-17-01, SIRM 57-17-02						
611010		NO. 1 PROPELLER - PERIODIC INSPECTION						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	400		1990.3	(2390.3)5317.6		400	
		REF: POM 61-00-49						
611010		NO. 2 PROPELLER - PERIODIC INSPECTION						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	400		1990.3	(2390.3)5317.6		400	
		REF: POM 61-00-49						
611020		NO. 1 PROPELLER - LUBRICATE						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	400		1990.3	(2390.3)5317.6		400	
		REF: POM 61-00-49						
611020		NO. 2 PROPELLER - LUBRICATE						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	400		1990.3	(2390.3)5317.6		400	
		REF: POM 61-00-49						
611025		NO. 1 PROPELLER - APPLY CORROSION INHIBITOR TO STEEL COUNTERWEIGHTS						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	400		1990.3	(2390.3)5317.6		400	
		REF: POM 61-00-49						
611025		NO. 2 PROPELLER - APPLY CORROSION INHIBITOR TO STEEL COUNTERWEIGHTS						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	400		1990.3	(2390.3)5317.6		400	
		REF: POM 61-00-49						

Disposition: CPCP

Disposition: CPCP



Due List Report

Model: SUPER KING AIR B200 Serial: BB-1632 RegNo: N724AA HRS: 4917.6 AFL:
4819 As Of: 13-Feb-2026 Operator: ALBRIGHT INSURANCE HOLDINGS, INC.

Report Date: 28-Feb-2026

PN & SN	Unit	Interval	TSX/Adj.	C/W	Next Due (ENG/APU) A/C	Max. Limit	Remaining	Est. Due
611230		NO. 1 PROPELLER - DE-ICE SYSTEM 200 HOUR INSPECTION						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	200		1990.3	(2190.3)5117.6		200	
REF: MM 30-61-80								
611230		NO. 2 PROPELLER - DE-ICE SYSTEM 200 HOUR INSPECTION						Service ATA:61
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS	200		1990.3	(2190.3)5117.6		200	
REF: MM 30-61-80								
790040		NO. 1 ENGINE - BRIDGE CHECK CHIP DETECTOR						Service ATA:79
PN:PN	MOS	12 (+30d)		13-Feb-26	13-Feb-27	15-Mar-27	350 d (+30)	13-Feb-2027
SN:UNKNOWN	HRS	600 (+10%)		1990.3	(2590.3)5517.6	2650.3	600 (+60)	
	ENC			1944				
REF: EMM 79-20-02								
790040		NO. 2 ENGINE - BRIDGE CHECK CHIP DETECTOR						Service ATA:79
PN:PN	MOS	12 (+30d)		13-Feb-26	13-Feb-27	15-Mar-27	350 d (+30)	13-Feb-2027
SN:UNKNOWN	HRS	600 (+10%)		1990.3	(2590.3)5517.6	2650.3	600 (+60)	
	ENC			1944				
REF: EMM 79-20-02								
SB 27-3459 R02		FLIGHT CONTROLS - FLIGHT CONTROL (GUST) LOCK INSPECTION / REPLACEMENT, SERVICE BULLETIN						Bulletin ATA:27
	MOS	12		13-Feb-26	13-Feb-27		350 d	13-Feb-2027
	HRS			4917.6				
	AFL			4819				
Disposition: MANDATORY		REF: BULLETINS						